2000

o2

943

10 943

02

O

| 4

]

1960
2000

N

1 AN (1/8)

(& & | »Hh<LIRPE
5 (7 | OBEMER
& % [ H2000

& 2000 ()

KFTHO2278% 1

@ 517

O

i I

@%\@\16%

iy

(9
20
g1
19

&

I~

OFFEN (178

800

0550

\ o
|
H
NER

\
\
\
D O o
HUN 1720 @ 7
FEx 0B

1) BROAZIESETETT,

40
400

| al

4
270

60

LT ¢13_‘=

NBHBN (17 8)

HE iRV B B (mm) it g & B

1 mAE GEEAY) 050x50xt3.2 STKR400 HENMRER (ThiEfin- &)
2 A%ev 7 t1.6 SGH EREEE (TEH»- %)
3 FEHE (RAD 50x64.5 AB063S BRBILEAKE

4 PR (GRAD 50x 64.5 AB063S BRBLEAKE

5 FEME (24D 50x64.5 AB063S BRBILEAKE

6 MEER 25%x 60 AB063S BRBILEAKE

7 DML AR 3.0 R -

8 K- F - IJFAbY- -

9 Witxvy 7 - ASA -

10 Kivy T ¢ 16/ F40Y -

11 BHE8 t4 ATYUA -

12 28 t4 ATYUA -

13 [ B! t3 ATYUA -

14 AEY KN 315 ATYLA -

15| A€y Fknnyxv ¢ 19/ CR -

16 EYYR t6 SPHC HENMRER (ThiEfin- &)
17 kyy té SPHC EREEE (TEf»- %)
18 kY IRk $12 SGD BREsn - &

19 gy 4x 20 ATYLA -

20 Eg 12 X -

21 EUEZEE t4 ATYUA -

22 FLE $13 ATYUA -

23 SN, T $22 PVC -

24 FErVA t2 AB063S. EPDM -

25 R b M10x 75 4.618% ARG - &

26 " M8x 75 ATYUA -

27 " M8x 65 ATYUA -

28 FIABRY M4x 10 ATYUA -

29 BE )2y M4x 10 AFYLA -

30 FRNRY M4x 8 ATYUA -

31 F7A by A= H52 VIS4 NHAG -

32 | PHYIEKxyy T t1.0 PVC -

Ch) BRUEREBRORY. TEHKERETHLhBVES,




